ET THEM FROM
THE SOURCE

FOR *APPLE I/l +/lle/& COMPATIBLES
Price Air CIF
Can. + Postage =Price
Dollars & Insur-

ance
Standard Disk Drive 230 +25 =255.00
SLIM DIRECT DRIVE 240 +25 = 265.00
Drive Controlier Card 33 + 3

DP-80 Printer (220V +

Transformer) 315 +40 = 355.00
Super-5 Printer (220V +

Transformer) 360 +40 =400.00
80-P Printer (Eqv. Epson

MX80FT/3 472 +40 =512.00
RS-232 Serial Interface

Card + 8 = 56.00
Parallel Interface Card 48 + 8 = 56.00
Z-80 A Card 31 + 6 = 37.00
16K Ram Card 35 + 6 = 41.00
128K Ram Card 146 + 8 =154.00
Eprom Writer Card 49 + 6 = 55.00
RF Modulator with

Sound 10 5 = 15.00
80/40 Column Switch 5 + 3 = 8.00
Cooling Fan 28 8 = 36.00
5 AMP Heavy Duty

Power Supply 39 + 20 = 59.00
Joystick (self centred} 17 + 5 = 2200

* Quantity discount availabie upon request » Import
duty 0to 5.1%, FST 9%, payable at destination * 90
days guaranteed on all items.

Send Bankdraft or Money Order to:

ALPS INTERNATIONAL & CO.,
1313A Ocean Centre
5§ Canton Rd.,
Kowloon, Hong Kong

*APPLE Il is a registered trade mark of APPLE COM-
PUTER INC.

Circle No. 1 on Reader Service Card
68—JUNE-—1984—ETI

Incremental Tin
R.A. Penfold

THE LM3914 LED display drive, IC1, is  fheTelay and alarm are operated by selec-

connected as a zero to 5V (full scale)
voltmeter to display in the bargraph
mode. Thus, each LED will turn on at in-
crements of OVS5 as the input of IC1 is
driven by the voltage across capacitor Cl1.
This is charged with a constant current so
that the voltage across it will rise linearly
with time. That is, the voltage across Cl
rises, the LEDs will light up one by one
until the voltage reaches 5V or until Cl is

ting one of the outputs of IC1. When the
output goes ‘active’ (when the LED
lights), the alarm sounds, the relay drops
out and the timer is reset by discharging
C1. For example, if the third increment is
selected (pin 17, IC1), then LEDs 2, 3 and
4 only will light, the alarm sounding when
LEDA4 lights. C1 is then discharged at that
time, resetting the timer ready for its next

LED2 LED}

+13-15v
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DESIRED PERIOD TOTAL TIME = 5 x C1

The complete circuit of the Incremental Timer. T1 is9 to 12V, 6 VA ETI




